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l.l If £(x) is a linear function f(2) =1 and f(4) = —2, then f (x)=

(E) f(x) - %x +4 D) flx)= %x =¢ c) f(x) =~ ;—x +2

N\ ___/"

B flx)= x4 (x)= -2zt
X)=—"x— e X)==——x+—_
) f 5 ) f RaadP
2. Give the approximate location of a relative maximum point for the function

f(x)=3x3+5x%-3x.

[4)) (-13575779) b) (02457,-03908)c) (~1357.5713)

d)  (0.2457,-03216) e) (-1357,-03908)

3
3. Find the polynomial of degree 3 whose zeros are (—3,0),(5,0) and (2,0)

and goes through (1, —2).

a) g(x)=(x+3)(2x-3)(x-2) b) g(x)=-2(x+3)(2x-3)(x-2)
c) glx)= %(x +3)(2x -3)(x-2) (,d) g(x) =~ %(x +3)(2x =3)(x - 2)

e) glx)=2(x+3)(2x-3)(x-2) ‘j = &&-4%) ék«—%) CX ~2)

—_%_z Q(‘—?) (;'l) ("‘3

— 204,
-



4. Find an equation for the line perpendicular to y = —2x + 3 that contains the
point (=7, 0).

1 :
\Jai y=_2x_7 b) y=5x—7 ‘FJ y=—2x—14

e 17
(d = —x+— =—x—-—
(&) y=5x+5 © Y=

y 0 =0+ 0=
5 Given this sign pattern ¢
x =5 0 7

might be the equation of y =f (x)?

>;, which of the following

3 f(x)=x(x+5)(x=7)
£ 1) =x{(x+5)(x=7)
® f(x)=a(r+3)(7-x)
(@) 70 =xx +5)X(7-x)
) (x) = —x3x+ )7 -)

6.  Find the remainder when y =48x3 —72x2 + 45 is divided by 4x — 3.

a0 b 27 ¢ 27 d) 18 [e))-18




7. Solve (x2 +3x - 2)(x +5)>0.
a) [—5,—-3.56] b) [056,00) ¢) [—3.56,0.56]

@ [-5.-356]U[0.56,0) &)  None of these
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Show all work.

1.  Use your graphing calculator to find and sketch a complete graph of

f(x) =8x*—4x>-20x% - 5x +4. State the window used, find the zeros, and the
extreme points.

Window; - E— e ROTTE | Wée [—%u o)

Zeros: (333 ) (A 204,0) \1 ?
P
Extreme Points: /

€53, 4 2)

(L%?OJ ..12,"‘0“\

( — 32, .323)

2. Find the zeros of y =21x*+47x3 - 59x%—27x + 18 by calculator and prove it
by synthetic division.

':)J 2 4% -s5 232 (¥
-63 €% 3% 8

T\ -t - & A
_L_& 2\ ~{e — i G
21 S -6

2 s —-¢ p

(c3) (=) (42203
(3.9 Loy (50) (2.0)



3. Use synthetic division to find f{ ~1/5) if f(x) = 10x3 - 5x +3.

_‘-‘_/sj'\O@-—s"%

-2 Z/f' aql

o %1 -4 3.92

LT =3.a2

4.  Find an inequality that has this sign pattern and solution:

+0 + 0 - 0 +

x( -1 %

(Y*c\lé x ~%) (X‘ t \ - O

> and x (-9, 1), (—1, %), or (7, ©°)

5. Show the sign patterns for
y=x3(x—5)4x+1)?
Yt 0 Y o +
N3

X — ©

y=—4(x-2)(x+5)%(x+1)?

\3—o+o+ 2 =
c—t—H 1 7
& -5 Z




6. Show the sign pattern and solve 21x*+ 47x3 - 59x2—27x + 1@ (Note:
This is the polynomial from #2 above)
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ﬁr__‘_\_dj/
/ ‘\‘\ — A
S to =y 9T P
&R " =
=2 " 3!4 l.
3
NE (’q’%} <a 1 )
7. Show the sign pattern and solve 263 =3x2-32x + 4@\) _
=4 ,-«.J?
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